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L*
b'v /# ) /Z. The lifetime of a printer costing 200 is exponentially distributed with mean 2 years.

The manufacturer agrees to pay a full refund to a buyer if the printer fails during the

first year following its purchase, and a one-half refund if it fails during the second year.

If the manufacturer sells 100 printers, how much should it expect to pay in refunds?
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random variables X and Y that follow a distribution with joint density function

2x  for 0<x<l, x<y<x+1
0 otherwise,

ﬂmn={

What is the conditional variance of ¥ given that X = x ?

'

.L .
Q\g [ ;,) Cf » Let Xy, X5, X be a random sample from a discrete distribution with probability

function

Determine the moment gsnofating function, M(s), of Y=== XiXaXs .

U.“ 7 ) } D A device contains two circuits. The second circuit is-a Ba_é:k'up for the first, so the second
v L | .- .

is used only when the first has failed. The device fails when and only when the second

circuit fails. !

Let X and Y be the times at which the first and second circuits fail, respectively. Xand ¥

have joint probability density function

66"¢™ for0<x<y<oe
0 otherwise,

f(x,y)={

. What is the expected time at which the device fajls?
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